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Part 1

11.5 #4: lim
k→∞

∣∣∣∣ak+1

ak

∣∣∣∣ =
|x|
3

. Thus, the radius of convergence is R = 3.

11.5 #5: lim
k→∞

∣∣∣∣ak+1

ak

∣∣∣∣ = |x|. Thus, the radius of convergence is R = 1.

11.5 #10: The radius of convergence is R = 1 and the interval of convergence is [−2, 0).

Part 2

11.5 #28: may converge

11.5 #30: cannot converge

11.5 #32: may converge

Part 3

11.6 #5: f(x) =
∞∑

k=0

(−1)kxk+2, I = (−1, 1) (substitute z = −x and multiply by x2)

11.6 #6: f(x) =
∞∑

k=0

kx2k, I = (−1, 1) (substitute z = x2)

11.6 #8: f(x) =
∞∑

k=0

x4k+1, I = (−1, 1) (substitute z = x4 and multiply by x)

11.6 #17: f(x) =
1

2

∞∑
k=0

(−1)k
(x

2

)k

=
∞∑

k=0

(−1)k xk

2k+1
, I = (−2, 2)
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